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https://dl.doubtnut.com/l/_hgx7RnyHgcji
https://dl.doubtnut.com/l/_Pc7VrEfhblrl

Answer:

o Watch Video Solution

91. z, yOMMIDL Sh&HUWIEBIEY 6ILDULIGIUIETETSET LDMM|LD
x0 6160fl6V

A xzb < yb

B.zb > yb

C.xb < yb

< |8
V2
o |

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_Pc7VrEfhblrl
https://dl.doubtnut.com/l/_ajjChaxFW4ia

|z — 2|

:E_

92. > 06T601l6V,z S16mLOW|LD Q6emL_bleuerf

A. [2, 0)
B. (2, c0)
C.(— o0,2)

D.( — 2, 00)

Answer:

° Watch Video Solution

93. 5z — 1 < 240Mm)bsz + 1 > 24 eT65TN)|

SIFLD6STLM(H HEm6IT 6

A (4,5)


https://dl.doubtnut.com/l/_3p5JE8w4dPqN
https://dl.doubtnut.com/l/_OEYnsOX7mAn4

B.(— 5, —4)

C.( — 5, 5)
D.( —5,4)
Answer:

o Watch Video Solution

94, |z — 1| > |z — 3|mHmIb
SIFL06STLM(H HEm6IT Gij6)

A. [0, 2]

B. (2, )

c. (0, 2)

61601


https://dl.doubtnut.com/l/_OEYnsOX7mAn4
https://dl.doubtnut.com/l/_KCMM2JOXSQQQ

D.( — o0, 2)

Answer:

o Watch Video Solution

95.log, 5 512-667 LDELIL

A. 16
B. 18
C.9

D.12

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_KCMM2JOXSQQQ
https://dl.doubtnut.com/l/_KQdHe27k9OwM

1
96. log, (ﬁ)m LG LILY
A —2
B.—8
C.—4
D.—9
Answer:

o Watch Video Solution

97.log  0.25 = 4etévflev z-601 LOGILILY

A.0.5


https://dl.doubtnut.com/l/_KQdHe27k9OwM
https://dl.doubtnut.com/l/_LkpwcVXEJem8
https://dl.doubtnut.com/l/_x5AFSfWzrVfT

B.2.5

C.1.5

D.1.25

Answer:

o Watch Video Solution

98. log, blog;, clog.a-661 LOGLIL]

A 2

B.1

C.3

D.4


https://dl.doubtnut.com/l/_x5AFSfWzrVfT
https://dl.doubtnut.com/l/_p4XXw39VDcY5

Answer:

o Watch Video Solution

99, 343-65T LOL_&60& 3 6160116V, 18651 SHLqLOMEDTLD

A5

B.7

C.6

D.9

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_p4XXw39VDcY5
https://dl.doubtnut.com/l/_OWwGBqfbCG4S
https://dl.doubtnut.com/l/_hiNunCy4AMe6

100. 22% + (a — 3)x + 3a — 5 = 06166TM) GFLDEBILIML 1q6V
CLP6VMIGENM 60T Tn(H&6V MM 6lLI(H&HSHEV  LI6VEsT
Sh&IWeEm6U FLOLD 6160116V, a-66T LOGLIL]

Al

B. 2

C.0

D.4

Answer:

° Watch Video Solution

101. 22 — kx + 16 = 06T65TM) SFLOGOTLIML_LG6V CLP6UMHISH6TTa

LHMIDL  ShFWedea® + b =32 -8 Hemmey


https://dl.doubtnut.com/l/_hiNunCy4AMe6
https://dl.doubtnut.com/l/_awFiu2g9uQKe

GlFWIWLD eT60fl6V -66T LOSLIL]

A. 10

C.—§,8

D.6

Answer:

° Watch Video Solution

102. 22 + |z — 1| = 1-607 861561 60T 6163016007 &H6M &

Al

B.0


https://dl.doubtnut.com/l/_awFiu2g9uQKe
https://dl.doubtnut.com/l/_jsx8IM3r1voW

C.2

D.3

Answer:

° Watch Video Solution

103. 32 — bx — 7 = 0-601 ELD6UTBIB(6THE (S,
eTesvTeTOTENAN 6V FLOLDMSHALD, 61T (&MUI(H Heme6muLd
2 60 CLP6DIGUSHEDIENE bl &M6ToTL. FLO6BTLIM(H

A3z> —5z —7=0

B.3z° + 5z — 7 =0

C.3z° — 5z +7=0

D.3z2 +2—T7=0


https://dl.doubtnut.com/l/_jsx8IM3r1voW
https://dl.doubtnut.com/l/_FEHRdLqFAGX2

Answer:

o Watch Video Solution

104. 22 + az + ¢ = 0-657 CLOGUMAIGEIT SLOMMILD 2 Sh(GLD.
Cueyitd z* +dz + b= 065T eO6UMRIGET 3, 3eT6vfl6y,
2% 4 ax + b = 0-65T CLPGUIBIGHET

Al,2

B.—1,1

c.9,1

D.—1,2

Answer:

I ° Watch Video Solution


https://dl.doubtnut.com/l/_FEHRdLqFAGX2
https://dl.doubtnut.com/l/_6btLcM4eg9v7

105. 2 — kx + ¢ = 0657 GLDUI eLP6UMIGETa, b 6l6vfley,

(a, 0) LHMILD(D, 0) &G QevmLLILILL GTJLD

A K — 4c
B. /4k* — ¢
C.\/dc — k°
D./k — 8¢

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_6btLcM4eg9v7
https://dl.doubtnut.com/l/_BYx3e8zPr3we

106. ke R T
(z+2)(z—1) =xz+2 z-1

oG LILY

Al

B. 2

C.3

D.4

Answer:

° Watch Video Solution

1-9 A B
107. T n 6T6oNlVA + B 6bT
3+ 2 — x2 3—«x x+1

D& LI


https://dl.doubtnut.com/l/_SpDO6qQOuLT5
https://dl.doubtnut.com/l/_FG0UE3KJfqe6

Answer:

o Watch Video Solution

108. (z+3)"+ (z+5)" =16601  epevraserent

61650160011 560)5
A4

B. 2


https://dl.doubtnut.com/l/_FG0UE3KJfqe6
https://dl.doubtnut.com/l/_OuSwUyQ3j054

C.3

D.0

Answer:

o Watch Video Solution

109. log; 11 log;; 13 log;5 151og;; 27 log,- 81-66T LDG)LIL]

Al
B. 2
C.3

D.4

Answer:


https://dl.doubtnut.com/l/_OuSwUyQ3j054
https://dl.doubtnut.com/l/_0dX0a1tjcNwb

° Watch Video Solution

10. &L/ ( — 2)* =

A 2

Answer:

o Watch Video Solution

M. |z — 2| > berevllevr Shev1G)|


https://dl.doubtnut.com/l/_0dX0a1tjcNwb
https://dl.doubtnut.com/l/_TyT7xXOpUacm
https://dl.doubtnut.com/l/_pDAD8iEZXv6b

A.(— o0, —2]U|[5,00)
B.(— o0, —3]U[7, )
C.(— o0, —3)U(7,00)

D.( — o0, —2) U (5, 00)

Answer:

o Watch Video Solution

12.z > 2el6vflev|x — 2| =

A2—=z
B.2+ z(3)x — 2

Cx —2


https://dl.doubtnut.com/l/_pDAD8iEZXv6b
https://dl.doubtnut.com/l/_zD1EDOGMVWeA

Answer:

o Watch Video Solution

113. log 1-606T LOGLILY

Al

B.0

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_zD1EDOGMVWeA
https://dl.doubtnut.com/l/_vK8Lr2D9V7zQ

114. GlOUICLLEVMIGET Q6V6ul, 6lLOUIS6IS(LD&HSED 6T
26 W  Q(hUL EMJL 6163160  SI5ED) |60 I

560T6E0LOSH&ITL_Lg

A0

D.1

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_vK8Lr2D9V7zQ
https://dl.doubtnut.com/l/_INHar34cxIyu

15. vz + 14 < 2, e16vfl6vz S160ILDMH G, 6T |

A [ — 14, —10)

B.( — 14, — 10)

C.( — o0, — 10)

D.[ — 14, — 10]
Answer:

° Watch Video Solution

116. LNedTeu(heussieummilev 6GlLMIHHGHTE 65T

Gy ey 6lFis:

Azd+ 322 +22+1


https://dl.doubtnut.com/l/_mRWAyTHOy8wS
https://dl.doubtnut.com/l/_iz236N2jlR7q

B. (2> + 2z + 1) (z + 4)
C.z®> +5z +6

D.(z + 2)(z + 3)(x + 4)

Answer:

O Watch Video Solution

7. saMml: Segotesoty (HLOMLUSH CFUILIeU[HMHESL
Lil6tT6U (TH LD (Lpem MB6Tilev Fn6V
ClaMNBG&HsLUUBEMG.(WEHY  (pemmuilew  I500-LD,
66U 6l6UM(H LD65B1] CHIT&HSH M(GLD 70
&6so1&HSILLILIL (hS 618M1(H &L G S M. Q) 7630TLMLD
(peomuilev epeubleunm(® Lo6vofl GCHISHH MG 120

616015 elaM(H&sLULGB S ME).10 LD6TT]


https://dl.doubtnut.com/l/_iz236N2jlR7q
https://dl.doubtnut.com/l/_OIkTsHHzrCdM

CHI5HHHIHMGLD (Heomeunsd Geusmev LIMTEG M6V
(PHeL  (peomuiley  Si8le  Gnell Sl &HSIME|
SMJ6evoTD:  (WLF6V (Ppemmullev MmHlemevwimeosr X500
HeL&HF MG .16 FLOW G )6V 1006001
CHIHHM@GL  Siglsng  Geuemev  LIMTEG M6V
Q76BUIL_M6U G | (pemrmuilev FmhHg &n.6V)
H ML 5HBIMG|
A (NALMHMIDR Qresoi(hLd 2 650T6BIWMGD, R
6160TLIG, | A6T60TLI G601 &IfIWIM6DT 6)161TEhSLDM(GHLD
B. (ilAMM bR Qesoi(hLD 2 6BoT6mWWM(@GHLD R
6T60TLI G| A 6160TLIG)60T SFIIULIMTEDT 6)16TTHEHLD S16V6V
C. (iii) A2_650T6m LDWIM(G DR 6165TLIZ)| H6UN)| Sh(GLD
D. (iv) AeTeoTLIG) | SHeummGLOR 6T60TLIG) |

2_6505160)LOWIM(GLD


https://dl.doubtnut.com/l/_OIkTsHHzrCdM

Answer:

o Watch Video Solution

118. GloWwgllLemLw  &mijy f(a:):z:za@

gMyuUsLD MM eIFFSHLD SMesos

o Watch Video Solution

119.56&&:\/6 —dr -z’ =z +4

o Watch Video Solution



https://dl.doubtnut.com/l/_OIkTsHHzrCdM
https://dl.doubtnut.com/l/_3XkqMRKy0TY8
https://dl.doubtnut.com/l/_f82TuhDpuOVV

120. x> + px + 8 = Osl6tTM) FLD6BTLIML_Lq 65T
CLP VMR &(6TH& (G QemLCuwiwimest 1&g wngLd 26Tesilev

P' Q65T LDF)LI6DILI SIT6T0IS

o Watch Video Solution

121. LG8 LilebT6sTra &6 LN 8618 (L0 815

x2 —1

o Watch Video Solution

122. 81758 (z — 2)(z + 3)2 < 0

° Watch Video Solution



https://dl.doubtnut.com/l/_wg6rJDxvjEFs
https://dl.doubtnut.com/l/_IejVBRltIWe2
https://dl.doubtnut.com/l/_YJ5TIpVhmaiX

1 1

123. LI & —— =1-
be kz::l k(k+1) n+1

o Watch Video Solution

124. _I"_F;@I_'I-]Ha&logél 2 — logs 2 + 10g16 2 E— 1 — lOge 2

o Watch Video Solution

125. L&) LT 65T60TSH61TTS L1118 618(L0 &8 18:

(x + 3)(x — 4)

o Watch Video Solution



https://dl.doubtnut.com/l/_dmyBKOmUxvp2
https://dl.doubtnut.com/l/_F21KLKH7fM5L
https://dl.doubtnut.com/l/_s3DiLMIgDpUR

126. log;, 2 = 0.30103, log;, 3 = 0.47712(Cgmymw
L& L1LI86T) 2°.31%-6v 615,860165T Q6VHEMIG6T 2 6551(H

6160TL1 8)60) 60T &HIT6BTS

o Watch Video Solution

10z + 30
(22 —9)(z 4+ 7)

127. L1(58) LiletTeoTong Ll &&6LD:

° Watch Video Solution

128. 2% — 622 + 11z — 6 = 06601 FLDEOTLIML_LG60T 62(Ih

eLpeuldz = 1 eTesilev LIIM CLD6UMISH6M6IT SIT65015

o Watch Video Solution



https://dl.doubtnut.com/l/_jdg0O5wRuyl1
https://dl.doubtnut.com/l/_M4ZKJS7eBXKC
https://dl.doubtnut.com/l/_SRqWFBVdOyPE

2% + 5
129. Sijner — -

— 1 > 5

° Watch Video Solution



https://dl.doubtnut.com/l/_Pykz6uxiOZDj

